THAEE MHEFTESRHR

1. — R REH(WHIEE5S) (8fe )
ap A ap Hj
# B LYFHE | FHRED | HEHQ |&:HO+@) mE e LYFHE | FHRED | BEHQ |&HO+@) =
1 |Hh 9,572,439 9,572,439 9,572,439 INE£ 244,904 244,904 244,904
2 (HAESH 409,850 409,850 409,850 2 |#MHBE 5689,164| 8,413,462 8,413,462
3 |FIFBIRMFE 6,000 6,000 6,000 3 |R&® 10,588,486 10,850,331 358,187| 11,208,518
4 |BuBIRftE 23,000 23,000 23,000 4 |EaEE 3,777,609 4,219,876 4,219,876
5 |MRXEFFEMBIRMGE 25,000 25,000 25,000 5 |FHEE 87,433 89,483 89,483
EAEEBRRMAE 108,000 108,000 108,000 BHKESXE 6,888,497 7,074,184 4800 7,078,984
7 |MAHERRZ A 1,441,000 1,441,000 1,441,000 7 |BIE 2,518,079 2,597,597 126,899 2,724,496
8 |TILTEFIERHZS 7,000 7,000 7,000 8 |tK%& 3510460| 3,654,681 3,654,681
9 |HBERERXAS 1 1 1 9 |HIAE 1,238,077 1,256,357 1,256,357
10 (BB HEERIR S 39,000 39,000 39,000 10 |BEE 5,381,385  5413,159 5,413,159
11 | HF4EAI3 F& 19,001 33,211 33,211 1" |KEEBE 759,207 1,636,453 1,636,453
12 | A RATHR 9,871,433| 10,004,059 10,004,059 12 | MEE 3,079,779 3,079,779 3,079,779
LB 4,777,493 5,073,893 5,073,893 13 | FiwE 100,000 140,000 140,000
FERI R 800,000 800,000 800,000
EXKERERIR T 4293,940| 4,130,166 4,130,166
13 | RBREX RIFANRATE 7,000 7,000 7,000
14 |2E£RUEESE 185,979 190,969 190,969
15 (ERABRUFHH 356,298 356,298 356,298
16 |[EEXHE 4918442|  5972,099 473,447  6,445546
17 [BX e 7,117,383| 7,311,943 7,311,943
18 |BAEEURA 153,593 153,597 153,597
19 |ZME 81,454 81,454 81,454
20 |1 A% 5340044 6,815,226 16,439 6,831,665
21 |igHg 600,000| 2,517,405 2,517,405
22 |FEURA 997,383| 1,029,427 1,029,427
23 |HiE 2583780 2,566,288 2,566,288
& &t 43,863,080 48,670,266 489,886 49,160,152 & F 43,863,080 48,670,266 489,886 49,160,152




2. ot (BHi:FA)
i LT HEE FEHED WIEHEQ &5 (D+Q) 1
IR EE B H 1,126,621 1,126,621 1,126,621
KEEERF -
BEARMZE 1,774,420 1,794,420 1,794,420
IR EE B H 5,630,420 5,659,661 5,659,661
FiEEEat - :
BEARMZE 864,038 917,773 917,773
IR EE B H 378,659 378,659 378,659
IXRAKESEER - -
EARMZH 558,628 558,628 558,628
IR ZE B H 1,742,922 1,749,082 1,749,082
TREEZRH gog :
BEARMZE 1,354,277 1,393,923 291,320 1,685,243
A = IR ZE B H 8,878,622 8,914,023 8,914,023
-0 BEARMZE 4,551,363 4,664,744 291,320 4,956,064




